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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
word 2nPTRd T i ;

(a) Define fertility rate.
STl 279 AW el |

(p) What is microfinance?
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(c)

(d)

(e)

(9)

(h)
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(2)

Mention one impact of land-tenure
system.

S99 I9ER @01 g SCEY T |

Point out one common deficiency
involving in governance.

P qEES (74l A @Bl TR @ SCE
340 1

What is rural-urban migration?

AT -9 2Eree ferce 6 @ ?

Point out one social challenge arising
from globalisation in India.

SReS MR Foe S8 @@ @B e
AR STEy 47 |

In which year was the Rio Summit held?
R st o b1 S Cafem o

Define individual behaviour in social
environment,

ST “Afe® Afe Simaer st figy |
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(1)
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2. Answer the following questions :

(3)

Mention one contribution of agriculture
to the process of economic development.

el T aifire A @B Wik Seas
41 |

Write one cause of gender inequality in
a family.

<y iR foeTe foiel (TR b1 IR o o
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(@)

(b)

(c)
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Define globalisation.
Rpgrea ke |

What is the relationship between the
age structure of a population and its
dependency ratio?

Al L PSSl Spemeq
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What are the types of environmenta]

externalities?
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(4)

d . .
(d) Why is sustainability of renewable
Teésources important?

PRI ot ST Ry gyl 2

(S)

(d) Briefly discuss the major eras of
globalisation in the last 150 years.

QAT S¢o ITAS HENR A4 TCFRB! TG
A 41 |

(€) What i (e) Explain the factors which influence
by oﬁls landlord-tenant relationship? individual behaviour in an organisation.
L= S qRreq oy 5 o RIS T JHIT ele T FREAYR I
411
3. Aa (/) What is ‘ertility gap’? Explain the
S e afny Sfour from the following fertility gap in terms of Leibenstein
: 5x4=20 theory of population.
\S =
T PP R G e T g Tfge T P2 ERETERTR TR Ogq
o wEre Tqe] T AIRETCHT 91 1 1
ecfn’;lm the role of agnculture in
. mic development, 4. Answer the following questions : 10x4=40
(b) Write 4 SolBie (@) Discuss the functioning of labour
n - : i ; i ‘
agrarian Soer credit market in market in agrarian society. 10
TRES AiErs 21@@7@ ANSe MY IFET D IS ST
mﬂqﬂﬁlﬁﬁﬁwqﬁmﬁw| 0 |
{C) Ex . Or/ o]
co i A thie distinction  between : i i
Mmunity governance ang Explain the demographic transition
goVernance. corporate during the process of development. 10
w‘ﬂ'{[ = GRENS @
i BRI ECE R o R —— T AfRE TRCRES s
R el 91 |
A
23/680 A23/680 (Tun Over )

( Continued )



(b)

()

A23/680

(6)

Examine Hirschman’s exit,
loyality theory as a
organisational inefficiency.

v 4%E, W9 CAF SRS wars!
s swrerd AfSfera R «@ww o |

Or / g

voice,
response to

Discuss the impact of globalisation on
developing countries in
international finance.

ofeTq SCAGAT 1 |

terms of

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation.

e FIE (@0 7 TR 9B TS e e
) RECA SCAGA 7 |

Or / o1

Critically discuss the various Jand
reform measures adopted
developing countries.

fRfen S (7S RS @RI Ridn Bt ez
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in  many

10

10

2+8=10

10
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(7]

In what way common property resource
theory provides a useful framework
for analysing environmental issues?

Explain. 10
e FeefE M ogord  AReers
STEE Remd wwe W @bl s
oI AT FCI, 901
Or / g1
Write short notes on : 5+5=10
o O forai
(i) Nutrition and labour productivity
o{fE w1 = SeeATTe!
(ii) Economic activity and climate
change
el TR T TRy, RS
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